Model Test Paper

Subject: Commerce -MIC/ MDC (Human Resource Management)
Class: Under Graduate Semester 1 (Session: 2023-2027)

Time: 3 Hours Max. Marks: 70
Instructions: Question No. 1 is compulsory. Attempt five questions in all.

Group A: Multiple Choice Questions:- (2X10)

I.- Choose the correct option GEREET=] )

i) Quantitative method of job evaluation is ...........
a) Ranking Method
b) Grading Method
¢) Point Rating Method
d) None of above

FTF qeATT T AT Ay g
a) W gz fy
b) afsw ffer

d) SUIH § F AE AEY
i) Minimum Wage Act was passedin ................ .
a) 1947
b) 1990
c) 1948
d) 2020

a) 1947
b) 1990
c) 1948
d) 2020

1ii) Which method of wage system is more suitable for quality work?
a)  Time wage system
b)  Piece wage system
c)  All of above
d)  None of above

Wm%ﬁt{éﬁwﬁﬁﬁwxﬁﬁ%mmﬁ



v)

a) q97T qTiesrfaes gt
b) THET AT TOTTSAT

c) LI qt

d) SUTTH § F L 71

...................... is used by many organisation to develop all-round workers.

a) Job rotation
b) Job evaluation
¢) All of above
d) None of above

a) ATHLT FT THT

b) AT FT HeATHT
¢) IULIE Tt

d) ST F F 15 TE

Management developmentisa ..................
a) Staff job

b) Line job

¢) Functional job

d) None of above

a) Promotion

b) Transfer

c) All of above
d) None of above

b) FITHTALT
c) IULIE Y
d) ITUIH H q FrE ALY
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the

.................. is the process through which a new employee is introduced to
job and organisation.

a) Placement

b) Induction

¢) Transfer

d) None of above

................... ag T § o wreas & uF TU ST T AT 6 e 4

c) TATATALT
d) SULE H ¥ IS ARl

viii)  Wh

ich of the following is technique of job analysis?
a) Interview method

b) Questionnaire method

¢) Critical incident method

d) All of above

frafofeaa & 7 7 o A g £ gt 22

a) HATEATHRTT fafer
b) wETAHAT At

c)

d) 3T gt

ix) Which aspect of human resource planning focus on knowledge, skill and abilities
of employees?
a) Qualitative human resource planning
b) Quantitative human resource planning
¢) All of above
d) None of above

ATAE HATEA RAISTT F7 F19 97 T2 FHA0T F T, Frae T srgarat 92 F39 22

a)
b)
c)
d)

TTEH AT HHTIT FTSTAT
YL FHT
UL | | HIS Al



X) Evolution of human resource management can be traced from

a. Kautilya period
b. British Period

¢.. Mughal Period
d. None of above

X) AT HATYA TeT & AR T qar ... H FATAT ST THAT 2

a) Hifeeq Frer
b) farfeer wrer

¢) WITeT &TeT
d) =% FFE of 7

Group B: Short answer type questions: - (5X4)

Answer any four questions (ﬁw'-_aﬁ T T47T & I AIfor):-

2. Write short note on Human Resource Planning.
HT HATET AT 97 Aty frogoft B

3. What is the importance of Human Resource Management?
HTS HHTET TaGF FT 77T 95T 27

4. Distinguish between Job description and Job specification.
A Fravor s A Bftrear ¥ fi sz aam

5. Distinguish between recruitment and selection.
AT ST T4 F A= a7 T #:14)

6. Explain the components of remuneration.

T fdF F T2t F7 aumTE A

7. Explain the following Management Development Programs:-

a) Sensitivity Training
b) Role Playing

e yau S a1 f =3 73-

a) Haaaefierar gforeor
b) SIrHERT fFrwTET

Group C: Long answer type questions:- (3 X 10)

Answer any three questions (feal o9 ¥41 F I ZfSr0):-

8. What are the functions of Human Resource Management?
AT GHIGT T4 & F97 F14 27

9. Explain the sources of recruitment.



T & AT T AT 5
10. Explain the process of selection.
EREEIRIE IR e o
11. What are the qualities of a successful HR manager?
T T HTTS SETE Talers o 47 o7 9
12. Explain any two modern methods of performance appraisal:-
a) 360 degree appraisal
b) Management by Objectives
¢) Human Resource Accounting
d) Behaviourally Anchored Rating Scale

TR AT ey 2 smyfiw afw £ srrear w3

a) 360 et gegiwa

b) IZeAT ERT yaET

¢) WTHE TETIT AEGTHT

d) =FER ararfog T S



(@) wefiT F =T (Value of Machinery)
(%) ST Wi ST Y46 ¥ (Floor Area Occupied by each Machine.)
(8) =AH & F$ AET (None of these)

ix) AT T qE F A &, @ 3 § Pty Rar w@w (n the case of Garner vs. Murray, decision
was given in):
(1) 1932 () 1902 (d) 1903 (%) 1947

x) EWWWWWW%%‘QW%W% (A creditor may apply for
initiating an insolvency resolution process):
(3) ¥4 (himself)
() HYTH T § A7 AT F A4 (Jointly with other creditors)
(F) ®eq G997 F ATLAH F (Through a Resolution Professional)
(@) Z% 7 f3 UF F g7 (Any one of the above)

Group B: Short answer type questions:- (5X4)
Answer any four questions (a1 =TT W=t & 397 #ifSr):-

2. State various users of accounting information.
AT gEATA F AT swgnEratE w1 3o 7Y
3. Explain any five accounting conventions.

et at=r Sravee weet it =T F

4. What are the objectives of valuation of inventory?

TR F qeara F SEeg T 8

5. Distinguish between hire purchase system and instalment payment system.

o s somTeft it e s sorret 3 e s saT

6. A man bout a machine by higher purchase system. He paid Rs 600 cash down Rs 640 at
the end of the first year, Rs 890 at the end of the second year and Rs 880 at the end of the
third year. The interest on the cash prize is 10% per annum. Calculate amount of interest of
each instalment.

U =i 7 AT # 0gf o ok wefia 77 1 56T Rs 600 T T R she o At
AT H Rs 640; f&efT o % o7 ¥ Rs 890 3iv qeftw 7 ¥ s # Rs 880 ) T g 2
10% faae =4t €1 Weir foed oe samst iy Trfer Y o #:3)

7. A Colliery Co. has taken lease of a coalfield on a minimum rate of Rs 7,500 merging into a

royalty of 25 paise per ton raised. Short workings of any year can be recouped out of the
royalties of the next three years. The results of the working were:



Model Test Paper

Subject: Commerce MIC (Financial Accounting)

Class: Under Graduate Semester 1 (Session: 2023-2027)

Time: 3 Hours Max. Marks: 70
Instructions: Question No. 1 is compulsory. Attempt five questions in all.

Group A: Multiple Choice Questions:- (2X10)
1. Choose the correct option (92T fa®e ﬁ‘:f’):-

i) @i SAEIT FT @7 FAT 8 (Accounting records transactions in terms of):
(37) IeITEH THTE H (Production Units) () &+ 3%TE & (Commodity Units)
() H=T TFTS (Monetary Units) (@) TAH T H‘Eﬂ“ (None of these)

ii) W%@ﬁmm—la H’Wfﬁl‘cl’% (International Accounting Standard-18 is related with) :
(F) ATH & (Revenue) () SATIATIAF HFTST (Business Combination)
() 9ET (Lease) (%) wfv®wafsy, ©ATvZ U4 IUFIU (Property, Plant and Equipment)

iii) FTH FT AATS 3697 SITAT 8 (Depreciation is provided on):
() =Tt FEf 97 (Fixed Asset) () =TS AT 9T (Current Asset)
(/) FA7 ¥R 9T (Intangible Asset) () ST T 9T (All the above)

iv) T g3t gomeft fEema-farea €1 (Single Entry System of Book keeping system):
() |ATHH YUITHAT 2 (Is the Best System) () AATHF IUTAT 2 (Is Scientific System)
() ﬂ"l"f SOTTEAT '3 (Is Incomplete System)
(F) FATEF ATHT TUTEAT 21 (Is the Most Popular System.)

v) -7 ugfa i o #, gy ama w2 By s & (In case of hire-purchase system,

assets account is debited with:
(1) FFTTaT-%a g7 | (Hire-purchase Price) (@) TFE TFTH (Cash Price)
(@) fasar 3} AT F (Cost Price to the Seller)  (2) Za#H & £ A& (None of these)

vi) TR sorTeft i zem #, AT STT AT For S4To #¥ H27 AT AT 2 (In case of installment
system, total interest receivable by the seller is credited to):
() 4TSt 9T @Td H  (Interest Suspense A/c ) () SATT AT T (Interest Account )

(/) fa%7 @ra #1 (Sales Account.) (%) TAH F FE T2 (None of these)
vi) ZFETT ST % =i 9T @TaT 21T § (Branch Account under debtors system is) :
() aTEafa® @TAT (Real Account) (@) =af¥FTa @ET (Personal Account)

(/) srETeafae @11l (Nominal Account) (%) T9H & FTE 72T (None of these)
viii) faferer Frmrt & wefiadt f aoema it Fwifra % agam R B ST 2 (Repairs to

machinery is apportioned over different departments according to):
(o) s fEamT # wefiaT £t /A (The Number of Machines in each Department)



I Year- Nil; II Year- 6,000 tonne; III Year- 24,000 tonne; IV Year- 50,000 tonne; V Year-
40,000 tonne.

Prepare an Analytical table.

U et FAt 7 25 97 gfq ew ¥ srferwTe oo W 7,500 w0 Y =raw G aw
UF FT @ 7 9gT forar @1 By oft at fr o e ooy a5t e aer fiw et F
i e § § Ft o1 gt oft1 1 F afvomy 4

s a- o7 faedftT & 6,000 z; T ad- 24,000 z; s 7= 50,000 Z; T=EW F-
40,000 .

o fFEworers arfersT 3 3

Group C: Long answer type questions:- (3 X 10)
Answer any three questions (a1 &9 w1 ¥ 397 FifSm):-
8. What is depreciation? Explain the different methods of depreciation.

TAZE F1E2  geagr i At fAfat #r aw=med

9. What is deficiency account? How does it differ from profit and loss account?

FH GTAT T2 A ATH UA gria @va & ey g w20



4 My amsms i s e mmme e - Ay o= E ;
frefafE sma-=r1 @H M T 31 79, 2022 F1 FAE €9 4 @4 & O N T T g
#1m FfFU (From the following Income and Expenditure A/c, prepare Receipts and Payment A/c for

the year ended 31st March, 2022) :
H19-=79 @i (Income & Expenditure Account)
(31 9T, 2022 F G B A q¢ F)
(for the year ended 31st March, 2022)

y g &
=g (Expenditure) ¢ nt) a4 (Income) (Amount)
% ¥
a7 (Salaries) 2,000/ (Donation) 4,000
H?f(ExpensesJ 3,000| ¥=<T (Subscription) 10,000
%1, ¥ (Rates, Taxes) 500
qed-grd (Deqraciation) 900
=g F A 7 Y H AUTT (Excess
of Income over Expenditure) 7,600
14,000 14,000
mmm————— | 1 m:“:_
sifafea guard (Additional Information) : 1 3, 2021 31 wrd, 2022
T T
39S AT (Fixed Assets) 9,000 10,000
FFAT I< (Subscriptions Outstanding) 2,000 3,000
31fi 91 9% (Subscriptions received in Advance) = 1,500
FFET @F (Outstanding Expenses) 100 - 200
¥ ¥ AT (Cash in hand) 1,000 -
&% ¥ UFT (Cash at Bank) 100 7,100

14

X FEA A O VI TS ¢ R A S W 26% T Sigent Fe A 81 FE e % smw
W e FEfEy & [EE I WA, R SAeR @l 391 SR Efadl @l aE—

X Company has its Branch at Lucknow. Goods are invoiced to this Branch at Cost plus 25%.
From the following details prepare Branch Account, Branch Debtors Account and Memorandum

Stock Account in the books of Head Office showing Branch Profit :
IR fF# (Credit Sales)
VI F A S (S Heq W) (Goods Supplied to Branch at invoice price)
T#%< fa# (Cash Sales)
TR § m ¥ (Cash received from Debtors)
W (A FA R YUAH) (Wages paid by Head Office)
frT (%7 FTAerd ER1 YTAH) (Rent paid by Head Office)
TES F & T4 FAA (Discount allowed to Customers)
A T8 §37 (Goods spoiled)
fafay =44 (&7 FrAd &R Y7TaH) (Sundry Expenses paid by H. 0.)
TEH 1 WIS AT (Goods returned by Customers)
T4 T B (Depreciation on Furniture)

f.
11,200
38,000
24,800
10,000

1,520
1,800

400

100

100

200

100



12,

A.Bmm:z:l?mﬁﬁw-ahmmw%mﬁm%nmﬁw.

= TFF ? (A, B and

¥ ¥
77T (Creditors) 30,800 | 7% # 73 (Cash at bank) 7,000
=% 373 (Bills Payable) 7,200| %59 (Stock) 39,600
A ST “:""EE (A's Loan) 20,000 | fafay &gz (Sundry Debtors) 28,000
F7% ¥ (Reserve Fund) 24,000 | w7, e dar uifersit
TF (Capital) : % (Joint Life Insurance Policy) 8,000

A 40,000 @M U [ (Plant & Machinery) 87,400

B 32,000

C 16,000 | 88,000

1,70,000 ~1,70,000

THOF 1 e, 2019 1 faT=T & TN GFF e A ot A g
¥ 36,000, T F ¥ 29,000 U1 WiT U WA T ¥
I T T @1 A B T4 SaAvEF Se sfafee

The firm was dissolved on 1st January, 2019. Joint Life Insurance Poli
¥ 10,000. ¥ 36,000 were realised from Stock, ¥ 29,000 from Debtors and
Machinery. One bill for ¥ 1,400 discounted in advance was dishonoured.

Pass necessary journal entries.

.......................................

10,000 § & 7| =y F

72,000 T FU 1,400 F UF favy o &% F =g
Fifa)

cy was taken over by A at
% 72,000 from Plant and



